10.1 Practice — Graphing Sine and Cosine

Pre-Calculus
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| For 1-3, identify the amplitude, period, frequency and vertical shift of each function.

1. f(8) = 13sin20 — 7
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2. g(t) =5 — 6cos(mt)
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3. h(8) = —24sin(87mH)
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| For 4-15, identify the given information and graph the trig function.

4. f() = 3sin8 5.y = —sin2x 6. f(6)=4sin%9
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10. f(6) = —4siné
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11. y = —3 cos 2x
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13. f(8) =3sin8—1

14. f(t) = —cost+2
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16. y = —3 + 4sin>x 17. f(6) = 2 — 3sin6 18. f(t) = —2cos 2t + 4
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| For 19 — 24, use the given information to create a sine function.
19. j 20. o _ 21. 20 _v
Amplitude: 5 ;'E- ”’um; Amplitude: 2 b~ % Amplitude: 1 ‘3:(__%
Period: 47 ;ﬂj‘_’ *ﬂ‘b Period: 1—“ §:20 =51k | period: 4 &T—ﬂ-b
: i — 1o — : e -
Vertical Shift: down 4 Vertical Shift: up 9 %%' b Vertical Shift: up 1 i"/*b
.J-_b A =b N
— - |
9 =SS - | 07N (2 )49 | 9= SinlEx) +
Amplltude. 6 b:.tﬂ":}ﬂla Amplitude: % \O b Amplitude: 10 T /(o
Period: 3 - b Period: ™ ® 201 © Period: > = 5H
Vertical Shift: down 5 '56 ‘10 20 =\s) p

w= GS\Y\%x}—S

Vertical Shift: up 15

V)= KSiN(20x< ) H 5

Vertical Shift: down 3 'I%L: b

5—[0 Slﬁ(—g’% -3



| For 25-27, write the equation of the following sine curves.
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For 28-30, write the equation of the following cosine curves.
28. . 29. 30.
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Skill= Revieus: Multiply Monomial by Binomial (Distribute)
—2x(3x — 4) cg\sx(cosx+2) 3sinf(2sinf — cos H)
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Skillz Revieus: Multiply

Binomial by Binomial (FOIL)

2x—-7)Bx+1)

&+ R —) x — 7
63 | -7

cos@ —2)(cos @ + 5)

CeS© +3caso — | O

(oS +5cass-Qasd — [0

(sin@ —tan @)(sinf +tan @)

i f\Q\Q — ’tow'\l@




